1 вариант                                                        
6558             Х16
100100112             Х8
13АА16               Х8
3718              Х16
1101101102                    Х16
1058                   Х2
3FF16                  Х8
101111012                Х8
64916                  Х8
EEE16                 Х8



2 вариант
5738             Х16
111100112             Х8
12BА16               Х8
2578              Х16
1100001102                    Х16
1258                   Х2
3CF16                  Х8
101001012                Х8
78316                  Х8
DDD16                 Х8
Решение
1 вариант
1) 1AD
2) 93
3) 11652
4) F9
5) 1B6
6) 1000101
7) 1777
8) 275
9) 3111
10) 7356

2 вариант
1) 17B
2) 363
3) 11272
[bookmark: _GoBack]4) AF
5) 186
6) 1010101
7) 1717
8) 245
9) 3603
10) 6735

